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Aalto University School of Economics
Mikkeli Campus
		Corporate Finance February/March 2022

Homework # 1

This assignment is due at 21:00, Friday, February 21st. Late submissions will not be accepted. This assignment is 10% of your final grade.
 
IMPORTANT NOTE:
Note that this is an individual assignment, and must be your own work. If you receive assistance from any other person, it is your responsibility to acknowledge that contribution formally in your assignment. You are encouraged to collaborate with other students by discussing how problems might be solved, but the work you declare as complete must be entirely done by you. If you have any questions about plagiarism, you should raise them in class in advance of submitting work.


Question 1 (accounting rate of return)

	Machine
	

	Year
	Profits/cashflow        £

	0
	(11,000)

	1
	5,000

	2
	4,000

	3
	6,000

	4
	7,000

	5
	8,000



The machine has a scrap value of £6,000 at the end of year 5 (not included in the above figures).
The company requires that a machine must generate a return of at least 60% for it to be purchased.
Required:
a. Calculate the ARR using:
i) The initial capital employed
ii) The average capital employed

b. Briefly outline advantages and disadvantages of the ARR method

(1 mark)


Question 2 (the payback method)
Project A
	
Year
	
Cash flow £

	0
	(12,000)

	1
	4,000

	2
	5,000

	3
	6,000

	4
	7,000

	5
	9,000



Required:
a. In relation to Project A calculate the exact payback period to the day 

b. Briefly outline advantages and disadvantages of the payback method

(2 mark)

Question 3 (NPV and IRR)
	Year
	Cashflow

	0
	(1,700)

	1
	300

	2
	350

	3
	500

	4
	800



You have £1,700 to invest in a project, say to buy a machine. The best return you can get by putting your money elsewhere is 5%. Scrap value at end of year 4 is £550.  This is not included in the year 4 cashflow. 
a. Calculate NPV and IRR of the project
b. Create NPV profile of the project
(2 marks)







Question 4 (Exam level)

Cashion International are considering a project that is susceptible to risk.  
An initial investment of £90,000 will be followed by 4 years each with the following ‘most likely’ cash flows (excluding inflation and tax):
	Annual Receipts
	£200,000 (selling price of £2)

	  Less Payments
	

		Annual Labour
		-£95,000

		Annual Materials
		-£45,000

		Annual Other
		-£10,000

	Net Cash Flow
	£50,000



The initial investment consists of £75,000 in machines, which have a zero-scrap value at the end of the project and £15,000 in additional working capital that is recoverable at the end. The discount rate is 10%.
Required
a. Draw a sensitivity graph showing the sensitivity of NPV to changes in the following:
i. Sales price;
ii. Labour costs;
iii. Material costs;
iv. Discount rate.
b. For the four variables considered in a) state the break-even point and the percentage deviation from ‘most likely’ levels before break-even NPV is reached (assuming all other variables remain constant).
c. Use the data above to calculate the NPV in two different scenarios:

	
	Worst Case
	Best Case

	Discount rate
	14%
	9%

	Annual sales (units)
	95,000
	110,000

	Selling price
	£1.90
	£2.15

	Annual Labour
	£115,000
	£90,000

	Annual Materials
	£44,000
	£40,000

	Annual Other
	£13,000
	£9,000




										(3 marks)




Question 5 (Exam level)

SW Co has a 31st Dec year-end and pays tax at 19% 12 months after the end of the year to which it relates. It can claim tax allowable depreciation at the rate of 18% reducing balance and can also claim a balancing allowance or pay a charge in the year of disposal (although no WDA is claimed then). It pays £1.2 million for a machine on 31st Dec 2020. The cost of capital is 15%. It expects the machine to last 5 years and be sold for £150,000 then.
a. Show the working for the tax depreciation
b. Calculate the PV of the benefit that would result from the writing down allowance over the lifetime of the project.
(2 marks)
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